S\)—4 %280 BFERE

HEHE T [ F 3 TE = BR B HOERIEF
NAME | Team [BiR|SER|STTERIA=2 T | BRI BB = I |mes| =453 | MIERE
i@ | c | 4| 4| 4| 25 2 1 0|19 16| 532 4.48
HELHDB | Fi| 4| 410 1323 [ 1 [ 1 [12]21] 615 10.76
IZERE 31 3| 1 13 1 1 8 6 4.31 3.23
NTEFN 4 [ 4 2] 19 0| 1 [21 [ 28] 774 10.32
WEEE | Fil]1]0]o0o] 0 0| 1| o [ 3 |#DIv/0![ #DIV/0!
EfiE— |z | 4| 4| 4| 24 0| o[ 1811 ] 525 3.21
ENELE [Fil]4 ][ 0] 0 7 0 o] 11| 7 | 11.00 7.00
EHH 31 [of 6 0| o[ 11| 10] 1283 | 11.67
A4 T At 2l ofof 6 0| o] 1 4 1.17 4.67
i iw i 2 ofo 2 0] o 3 [ 6 | 1050 [ 21.00
EgE+ | F|l1]o0]o0 1 0| o 1 2 7.00 14.00
wAFS} | Fif1]o0fo0 1 0] o[ o0 1 0.00 7.00
ATE % Fl1|lofo 1 ofof o 6 0.00 42.00
EISRBE | Fi[ 1 ] o[ o0 1/3 o]l o] of 4 0.00 84.00
=111 35 | 20| 11| 119 4 | 4 1105[125| 6.18 7.35

S\y—4 28R F—LA BFAE

Team wE [BIR|ERITTH] 1=2T | BRI B = IR |mmx| E={E3 | MIEHRE
g—=ILFavy| 1 | 4 4] 4| 25 2 1 0| 19| 16| 532 4.48
DaEA—X| 3 [ 8] 4| 1 25 1 1 [ 20| 20| 5.60 5.60
Jayv—X| 5|1 8 4|0 22 1| 2] 23] 36| 732 11.45

229—X | 4 | 11| 4| 2 | 23 0| 1] 25| 42| 761 12.78
FIO7—X | 1| 4] 4] 4| 24 0 o] 18 11 ] 431 3.23
TOTAL 14 [35] 20| 11 | 119 4 | 4 |105[125] 6.18 7.35




